n)= Set Di rectory["C:\\drorbn\\ Acadeni cPensi eve\\2012-01"1;
<< betaCal cul us. m

npz7i= BSinplify = Ful |l Sinplify;

In[128]:= {
al = W1] + Sum[asoi ar[i, j1, (i, 3}, {i, 3}],
(¢l // dm[1, 2, 1]) /. _c - c,
(¢l 7/ dm[1, 2, 1]) /. _c » c -1,
(al 7/ dm[1, 2, 1]) /. _c » c+1
} // BCollect // BForm // Col utmForm

1] h[1] h[2] h[3]
t (1] a1 012 Qi3
t[2] o 022 az3
t [3]
1

out[128]=

as1 as2 ass3

C a1
M T lec (aap+apitost) } hil] h[3]
t[1] Oy 4+ 22 (1+c 0g2) . (1+c (aqr+azi+agi)) (o1 (1+C (ouz+apz) ) +ouz (1+4C agy)) Qe + (1+Caa1) oz
22 1+C (a11+031) 1+Cc (a11+031) 13 1+Cc (a11+031)
t [3] (1+c (aqp+azi+agy)) ((1+Cou1) agz+agy (1+C (azp+asz)) ) C a3 031
1+c (a11+031) 1+Cc (o11+031)
(-1+c) 021 ]
Ml 1+ (-1+C) (aur+az1)+(-1+C) asz1 h [1]
a1 (1+(-1+C) azp) (1+(-1+c) (oaz+0p1) +(-1+C) ag1) (oa1 (1+(-1+C) (a12+022)
t[1] Qg2 + 1+ (-1+C) ag1+(-1+C) asy + 1+(-1+c) ag+(-1+C) as
t [3} (1+(-1+C) (on1+021) +(-1+C) az1) ((1+(-1+C) ai1) agz+oz1 (l+(-1+C) a2+ (-1+C
1+(-1+C) agz+ (-1+C) a3
(1+c) az1 ]
Ml 1+ (1+C) (o11+021) + (1+C) azy h [1]
t 1] Qop + 221 (1+(1+c) azp) (1+(1+c) (our+ap1) +(1+C) azr) (aax (1+(1+C) (orz+a22))+ouz (1
22 1+(1+c) o1+ (1+C) oz 1+(1+c) g1+ (1+C) oz
t [3] (1+(1+c) (oaa+ap1) +(1+C) agr) ((1+(1+C) aa1) aga+asy (1+(1+C) aga+ (1+4C) asz))

1+(1+c) a11+ (1+C) az

(-1+cC) ay . .
in1301:= 1 - // Sinmplify
1+ (-1+cC) (a1 +ap1) + (-1+C) azy

(-1+¢C) az

out130]= 1 -
1+ (-1+c) (a1 +ag1) + (-1 +¢C) asr
C apy
in[13s)= 1 - // Factor
1+C (a1 +0ap1 +0a31)
l+Ccay1 +Casn
Out[135]=

l1+Ccay1 +Cop +Caszy



